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Unique Paper Code: 12271302
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Duration -3 hours

Maximum Marks 75

Instructions for students:
1. Answer any four questions out of six.
2. Attempt all the parts of a question.
3. Each question carries 18.75 marks. and each part of a question is for 6.25 marks.
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1. (a) Discuss the conditions under which Monetary Policy and Fiscal Policy multipliers

are zero.
(b) Discuss the impact of the following changes on the slope of the Aggregate Demand
(AD) curve

i) Arise in income responsiveness of money demand

ii) A reduction in income tax rate
(c) Discuss how the labour market model based on Wage Setting -Price Setting (WS-
PS) relations is similar to the classical labour supply -labour demand model.
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2. (a) You are given the following information about an economy:
Wage Setting: W = P¢(1 — u), where W is the nominal wage, P¢is the expected price
level and u is the unemployment rate.



The firms charge a markup of 10% over the wages.
i) Calculate the equilibrium real wage and natural rate of unemployment
ii) If the government introduces strict laws against exercise of market power by the
firms, how will AS curve be impacted? Explain.

(b) Fiscal policy as well as Monetary policy cannot change the level of output in the
medium run. Why is then monetary policy considered neutral but not fiscal policy?

(c) Assume that the economy is in the medium run equilibrium and the expectations are
formed adaptively such that P = P,_,. Using AD-AS diagrams, explain the impact of
an increase in oil prices on output, prices and interest rate in the short run and in the
medium run.
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3. (a) “Disinflation typically leads to a period of higher unemployment.” Explain. What is the
basis of Lucas’ assertion that the unemployment costs of disinflation can be reduced
significantly? Do you expect faster disinflations to be associated with lower sacrifice
ratios?

(b) You are given the following information about an economy:
Okun’s law: u;- Ut-1= -0 .4(gyt-3%)
Phillips Curve: m -m1 = - (Ut- 5%).
Growth rate of money supply gmt = 13%.
i) What is the value of normal rate of growth of output?
i) Calculate the rate of inflation in the medium run.
iii) State the value of natural rate of unemployment.
iv) Let the government follow contractionary monetary policy to reduce inflation by 6%.
What will be the sacrifice ratio if the results are obtained in the same year?
What will be the sacrifice ratio for the policy if when the policymakers reduce inflation by
4 % in the first year and further by 2 % in the subsequent year? Explain your results.
(c) At times, higher money growth has been held responsible for higher interest rates. But at

other times, economists claim that an increase in money growth leads to a fall in interest
rates. Can both of these statements be correct? If so, explain these seemingly
paradoxical statements.
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4. (a) Assume that consumers behave in accordance with Life Cycle Hypothesis of consumption.
Derive the consumption as a function of observed or measured variables.
In such an economy, how would your consumption be impacted by i) provision of old age
benefits by the government, and ii) better health and greater life expectancy.
(b) You are given the following expression for permanent income (Y,) of an economy:

1
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Consumption in this economy behaves as follows: C = 0.9 Y,

i) Calculate Y, if you have earned INR 20,000 per annum for the last ten years.

i) Suppose you earn 30,000 next year or the year (t + 1). What is the new Y},?

iii) Calculate consumption for periods t and t + 1 (i.e., C;and C;,4) according to Permanent
Income Hypothesis.What would be the values of C; and C;,, according to Keynesian
theory if
C,=09Y,

iv) Explain the reason for difference in your answers in the part above.

(c) Explain how the intertemporal optimization model of consumption combined with
assumption of rational expectations leads to Random Walk behavior of consumption.
How does an expected fall in income tax impact consumption under the Random Walk
theory? Explain how your answer will be different (if at all) if the tax reduction had been
unanticipated?
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5. (a) Explain the gradual adjustment hypothesis of net investment in the Neoclassical approach.
Explain how a permanent and a temporary increase in investment tax credit affects the rate
of investment.

(b) You are given a Cobb-Douglas production function:
Y = NY/2K'/2  where Y= output, N= labour and K= capital
Assume that Y= INR 5 trillion, nominal interest rate= 11%, expected inflation rate=7%
and depreciation rate = 6%.
Suppose in the previous period (year 0) capital stock was INR 20 trillion. Assume
further that firms plan to close a fraction 14—0 of the gap between the desired and actual
capital stock each period. Calculate the rate of investment in year 1 and year 2.
(c) Explain the impact of following in the determination of residential investment. Use
diagrams.
1) an increase in the real estate taxes
ii) a decrease in the returns on bonds
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6. (a) Under the regressive expectations model of demand for money, show how an
individual’s demand for money is a step function if expected interest rate in the long run
is held constant.

Derive the conditions under which this result will hold even if expected interest rate is made
a function of current rate of interest.

(b) Explain with the help of diagrams, the effect on individual’s demand for money, of an
increase in the estimate of risk in Tobin’s portfolio balance approach.

(c) In the inventory approach to transactions demand for money, suppose an individual is paid
monthly and spends a total amount of INR 600 in real income on purchases which are
spread evenly in a month of 30 days. He earns a monthly interest rate of 6% on bonds.
Exchange of bonds for money incur a transaction cost of INR 2 per transaction. What is the
optimal number of transactions? Calculate the individual consumer’s average transactions
demand for real balances. What is the aggregate demand for real balances for transactions,
in this model?
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